

Pay Estimate Created Date: July 17, 2023

Progress Estimate I 3	Number	Contract ID Prime Contrac			Pay Period Start Pay Period End	July 1, 2023 July 15, 2023	Original Contract Amount Net Change Order Amount Current Contract Amount	\$6,114,984.35 \$0.00 \$6,114,984.35
Approval Date								By User
July 17, 2023			Generated and	Approve	ed (and should be c	i) at the Project Office Level by	phant1	
July 17, 2023			Reviewed and App	roved (ar	nd should be consid	burnsj3		
July 18, 2023				Review	ed and Approved a	ramses1		
Original Completion	n Date	Current Co	mpletion Date	Ac	tual Completion D	ate	% of Current Contract Amount	nt Complete
November 1, 202	23	Novem	per 1, 2023				42.93%	
	Contract I	nformational Dat	tes		Milest	ones		
Date Description	Original C	ompletion Date	Current Completi	on Date	No Milestones Ex	ist for Contract		
Acceptance Date								
Awarded Date	July 6, 202	22	July 6, 2022					
Letting Date	June 17, 2	022	June 17, 2022					
Notice to Proceed Date	September	r 6, 2022	September 6, 2022	2				
Open to Traffic Date								
Work Began Date								

Contract Total Pay For Estimate No. 3

her Contract Adjustments	\$0.00 \$0.00	\$0.00 \$0.00 \$1,689,968.69	\$0.00 \$0.00 \$2,430,267.34
fulualeu Damaye	ψ0.00	ψ0.00	ψ0.00
guidated Damage	\$0.00	\$0.00	\$0.00
sincentive	\$0.00	\$0.00	\$0.00
centive	\$0.00	\$0.00	\$0.00
oss Item Adjustments	(\$109,623.87)	(\$85,541.34)	(\$195,165.21)
tal Posted Items Pay	\$849,922.52	\$1,775,510.03	\$2,625,432.55
	This Estimate	Previous	To Date
	oss Item Adjustments centive	tal Posted Items Pay \$849,922.52 oss Item Adjustments (\$109,623.87) centive \$0.00	tal Posted Items Pay \$849,922.52 \$1,775,510.03 oss Item Adjustments (\$109,623.87) (\$85,541.34) centive \$0.00 \$0.00

Contract Total Payable This Estimate:

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1P3388	0360	6181000	MOBILIZATION	LS	\$25,000.000	0.25	\$6,250.00
	0410	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.170	297,059	\$50,500.03
	0420	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.170	179,324	\$30,485.08
	0440	4132000	SCRUB SEAL	SQYD	\$1.510	174,627	\$263,686.77
	0450	4132000	SCRUB SEAL	SQYD	\$1.510	330,464	\$499,000.64
Project J1P	3388 - Tota	al					\$849,922.52
Overall - To	otal						\$849,922.52

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1P3388	0380	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	MaterialCredit			3	\$310.00	\$930.00
	0380	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-3	\$310.00	(\$930.00
	0410	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	Overrun			-26,672	\$0.17	(\$4,534.24)

Pay Estimate Created Date: July 17, 2023

Progress Estimate Number 3 Prime C					617-A03 ce Brothers, Inc.	Pay Period Start Pay Period End	Original Contract Amount Net Change Order Amount Current Contract Amount			\$6,114,984.35 \$0.00 \$6,114,984.35	
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity		Line Item Adjustment Unit Price	Adjustment amount
J1P3388		MARKING PAIN	IT, TYPE P BEADS								
	0410	4 IN. WHITE S WATERBORNE P MARKING PAIN	AVEMENT	Overrun					-17,896	\$0.17	(\$3,042.32
	0440	SC	RUB SEAL	Overrun					-38,317	\$1.51	(\$57,858.67
	0440	SC	RUB SEAL	Overrun					-7,084	\$1.51	(\$10,696.84
	0440	SC	RUB SEAL	Overrun					-22,180	\$1.51	(\$33,491.80
Total											(\$109,623.87



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J1P3323	FAF 59-1(42)	Scrub seal	Various	VARIOUS	at various locations in the Northwest District							
J1P3388	FAF 36-1(104)	Scrub seal	various	VARIOUS	at various locations in Northwest District							

Totals by Job Numbers

323	This Estimate	Previous	To Date
Posted Item Pay	\$0.00	\$0.00	\$0.00
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$0.00	\$0.00	\$0.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
388	This Estimate	Previous	To Date
Posted Item Pay	\$849,922.52	\$1,775,510.03	\$2,625,432.55
Gross Item Adjustments	(\$109,623.87)	(\$85,541.34)	(\$195,165.21)
Gross Item Pay	\$740,298.65	\$1,689,968.69	\$2,430,267.34
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
	#0.00	\$0.00	\$0.00
Liquidated Damages Other Contract Adjustments	\$0.00	40.00	ψ0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1P3388, Item 6200021, Project Item Line Number 0380, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Awaiting for certification from contractor	phant1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220617-A03, Contract Project J1P3388, Project Item Line Number 0470, Contract Line Item Number 0470, Item 4132000, Minor Item.	Awaiting change order	phant1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220617-A03, Contract Project J1P3388, Project Item Line Number 0490, Contract Line Item Number 0490, Item 4132000, Minor Item.	Awaiting change order	phant1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220617-A03, Contract Project J1P3388, Project Item Line Number 0500, Contract Line Item Number 0500, Item 4132000, Minor Item.	Awaiting change order	phant1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220617-A03, Contract Project J1P3388, Project Item Line Number 0410, Contract Line Item Number 0410, Item 6206000C, Minor Item.	Awaiting change order	phant1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220617-A03, Contract Project J1P3388, Project Item Line Number 0440, Contract Line Item Number 0440, Item 4132000, Minor Item.	Awaiting change order	phant1	Acknowledged

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

lotar rate / An terms / An Estimates (including time estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

No. Contract NO. ONLYProject Project No.Uter CodeUter Project No.Uter Project No.Uter Project No.Uter Project No.Projec	Total Value POSTepping To Date (See reporting generated date) S0.00 S0.00
0001 0202 6161005 CONSTRUCTION SIGNS 1.217.00 0.00 1.217.00 SQFT 0.00 0011 0039 6161002 ADVANCED WARNING RAIL SYSTEM 2.00 0.00 2.00 EA 0.00 \$5.00 0001 0404 6161022 CHANNELIZER (TRIM LINE) 198.00 0.00 198.00 EA 0.00 \$2.00.00 0001 0605 6161040 FLASHING ARROW PANEL 2.00 0.00 1.00 EA 0.00 \$2.00.00 0001 0605 6161040 FLASHING ARROW PANEL 1.00 0.00 1.00 EA 0.00 \$25.00.00 0001 0605 610001 MOBILIZATION 1.00 1.00 1.00 EA 0.00 \$25.00.00 0001 0000 620021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24.00 1.005.00 1.00 EA 0.00 \$25.00 0001 0100 620022 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24.00 1.00 20.00 Z4.00 \$25.00.0<	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Cont Cont <th< td=""><td>\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00</td></th<>	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
000100406161025CHANNELIZER (TRIM LINE)198.000.00198.00EA0.00\$5.00000100506161040FLASHING ARROW PANEL2.000.000.006.00E20.00.0022.00.00000100606162044TEMPORARY SHORT-TERM RUMBLE STRIPS4.000.004.00E25.000.00000100706181000MOBILIZATION1.000.001.000.001.00EA0.00\$25.000.00000100806200015PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN1.005.000.001.005.00IEF6.00.00\$25.000.0000010100620024PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFTRIGHT ARROW100.000.001.000EA0.00\$25.000.0000010100620027PREFORMED THERMOPLASTIC PAVEMENT MARKING, COEMINITON STRILTING STRILTING STRILTING22.010.0022.01EA0.00\$50.0000010100620027PREFORMED THERMOPLASTIC PAVEMENT MARKING, COEMINITON STRILTING STRILTING STRILTING22.010.0022.01EA0.00\$0.00EA0.00\$0.00EA0.00\$0.00\$1.00\$25.00.0000010100620027PREFORMED THERMOPLASTIC PAVEMENT MARKING, COEMINITON STRILTING STRILTING STRILTING22.011.00\$25.178.000.00\$25.178.000.00\$25.178.000.00\$25.178.001.00\$0.02\$25.178.000.00\$25.07.00\$25.07.00\$25.07.00\$25.07.00 <td>\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00</br></br></td>	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
0001 0050 6161404 FLASHING ARROW PANEL 2.00 0.00 2.00 EA 0.00 \$2,000.00 0001 0060 6162004 TEMPORARY SHORT-TERM RUMBLE STRIPS 4.00 4.00 4.00 4.00 52,000.00 0001 0070 6181000 MOBILIZATION 1.00 1.00 0.00 1.00 1.00 5.00 52,000.00 0001 0080 620001 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 241N. 1.005.00 1.00 0.00 1.005.00 1.06 52,000.00 0001 0080 620001 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 210.0 0.00 1.00 0.00 1.00 52,00.00 0001 0100 620002 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 2.00 0.00 1.00.0 EA 0.00 \$25,00.00 0001 0100 6200027 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 2.00 0.00 1.00.0 EA 0.00 \$25,170.0 1.01 50.00 50.00 50.00 50.00 50.00 50.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
0001 060 6162004 TEMPORARY SHORT-TERM RUMBLE STRIPS 4.00 0.00 4.00 EA 0.00 S25.00.00 0001 0070 6181000 MOBILIZATION 1.00 0.00 525.00.00 0001 0100 6200021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 INI 1.00.00 0.00 1.00 6.00 525.00.00 0001 0110 6200202 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 2.00 0.00 2.00 EA 0.00 525.00.00 0001 0110 6205902A GIN, WHTE HIGH BUILD WATERBORNE PAVEMENT MARKING, 2.00 2	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
0001 0070 6181000 MOBILIZATION 1.00 0.00 1.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
0001 0080 6200015 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. 1,005.00 0.00 1,005.00 LF 0.00 \$28.00 0001 0090 620021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. 1,005.00 0.00 1,005.00 LF 0.00 \$28.00 0001 0090 620021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 10.00 0.00 10.00 EA 0.00 \$27.00 0001 0100 620022 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 10.00 0.00 10.00 EA 0.00 \$27.00 0001 0100 620022 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 2.00 0.00 2.25,178.00 LF 0.00 \$25.00 0001 0120 6205902 61N. WHITE HIGH BUILD WATERBORNE PAVEMENT 202.088.00 0.00 225.178.00 LF 0.00 \$0.03 \$0.17 0001 0130 62059026 61N. YELLOW HIGH BUILD WATERBORNE PAVEMENT 719.275.00 0.00 719.275.00 LF 0.00 \$0.17 <tr< td=""><td>\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00</td></tr<>	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Number WHITE WHITE Marking Mar	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Image: Note of the image: independence of the image: independence of the image: imag	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Internation STRAIGHT ARROW Internation	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Image: Combination Struct/ret Combination Struct/ret Combination Struct/ret Combination Struct/ret Combination Struct/ret 1001 0120 6205902 6In. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING 225,178.00 0.00 225,178.00 0.1F 0.000 \$0.00 202,088.00 0.00 202,088.00 0.1F 0.000 \$0.00 202,088.00 0.1F 0.000 \$0.00 \$0.00 202,088.00 0.1F 0.000 \$0.00 \$0.00 202,088.00 0.1F 0.000 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
PAINT, TYPE L BEADS PAINT, TYPE P BEADS	\$0.00 \$0.00 \$0.00 \$0.00
NARKING PAINT, TYPE L BEADS NARKING PAINT, TYPE P BEADS <t< td=""><td>\$0.00 \$0.00 \$0.00</td></t<>	\$0.00 \$0.00 \$0.00
0001 0140 6206000C 1N. WHITE STANDARD WATERBORNE PAVEMENT MARKING 645,348.00 0.00 645,348.00 LF 0.00 \$50.17 0001 0150 620600C 1N. YELLOW STANDARD WATERBORNE PAVEMENT 779,275.00 0.00 779,275.00 LF 0.00 \$50.17 0001 0150 6206124 21 IN. YELLOW STANDARD WATERBORNE PAVEMENT 779,275.00 0.00 779,275.00 LF 0.00 \$50.07 0001 0160 6206124A 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING 738.00 0.00 738.00 LF 0.00 \$59.00 0001 0170 6206124A 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT 586.00 0.00 586.00 LF 0.00 \$59.00 0001 0170 6206125A 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT 586.00 0.00 586.00 LF 0.00 \$59.00 0002 0180 4132000 SCRUB SEAL 367,875.00 0.00 367,875.00 SQYD 0.000 \$17.99 0004 <	\$0.00 \$0.00
0001 0150 6206001C 4.IN. YELLOW STANDARD WATERBORNE PAVEMENT 779,275.00 0.00 779,275.00 LF 0.00 \$0.00 \$0.00 779,275.00 LF 0.00 \$0	\$0.00
0001 0160 62061240 24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING 738.00 0.00 738.00 LF 0.00 \$89.00 0001 0170 6206125A 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT 586.00 0.00 586.00 LF 0.00 \$89.00 0002 0180 4132000 SCRUB SEAL 367.875.00 30.00 367.875.00 SQVD 0.00 \$15.870.00 SQVD 0.000 \$15.870.00 SQVD \$15.970.00<	
0001 0170 6206125A 24 IN. YELLOW STANDARD WATERBORNE PAVEMENT 586.00 0.00 586.00 LF 0.00 \$9.00 0002 0180 4132000 SCRUB SEAL 367.875.00 0.00 367.875.00 SQVD 0.00 \$15.870.00 SQVD 0.000 \$15.970.00	\$0.00
0002 0180 4132000 SCRUB SEAL 367,875.00 0.00 367,875.00 SQYD 0.000 \$\$1.79 0003 0190 4132000 SCRUB SEAL 156,870.00 0.00 156,870.00 SQYD 0.00 \$\$1.79 0004 0200 4132000 SCRUB SEAL 99,925.00 0.00 99,925.00 SQYD 0.00 \$\$1.79 0005 0210 4132000 SCRUB SEAL 99,925.00 0.00 45,364.00 SQYD 0.00 \$\$1.79	
0004 020 4132000 SCRUB SEAL 99,925.00 0.00 99,925.00 SQYD 0.00 \$1.79 0005 0210 4132000 SCRUB SEAL 45,364.00 0.00 45,364.00 SQYD 0.00 \$1.79	\$0.00
0005 0210 4132000 SCRUB SEAL 45,364.00 0.00 45,364.00 SQYD 0.00 \$1.79	\$0.00
	\$0.00
0006 0220 4132000 SCRUB SEAL 32,923.00 0.00 32,923.00 SQYD 0.00 \$1.79	\$0.00
	\$0.00
0007 0230 4132000 SCRUB SEAL 72,311.00 0.00 72,311.00 SQYD 0.00 \$1.79	\$0.00
0008 0240 4132000 SCRUB SEAL 110,559.00 0.00 110,559.00 SQYD 0.00 \$1.79	\$0.00
0009 0250 4132000 SCRUB SEAL 92,858.00 0.00 92,858.00 SQYD 0.00 \$1.79	\$0.00
0010 0260 4132000 SCRUB SEAL 48,102.00 0.00 48,102.00 SQYD 0.00 \$1.79	\$0.00
0011 0270 4132000 SCRUB SEAL 110,211.00 0.00 110,211.00 SQYD 0.00 \$1.79	\$0.00
0012 0280 4132000 SCRUB SEAL 93,730.00 0.00 93,730.00 SQYD 0.00 \$1.79	\$0.00
0013 0290 4132000 SCRUB SEAL 93,931.00 0.00 93,931.00 SQYD 0.00 \$1.79	\$0.00
0014 0300 4132000 SCRUB SEAL 36,306.00 0.00 36,306.00 SQYD 0.00 \$1.79	\$0.00
Project J1P3323 - Total Value Posted to Date as of Report Generated Date	\$0.00
J1P3388 0001 0310 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.00 2.00 EA 1.00 \$1,000.00	\$1,000.00
0001 0320 6161005 CONSTRUCTION SIGNS 1,454.00 0.00 1,454.00 SQFT 417.00 \$9.00	\$3,753.00
0001 0330 6161025 CHANNELIZER (TRIM LINE) 324.00 0.00 324.00 EA 12.00 \$5.00	\$60.00
0001 0340 6161040 FLASHING ARROW PANEL 2.00 0.00 2.00 EA 2.00 \$2,000.00	\$4,000.00
0001 0350 6162004 TEMPORARY SHORT-TERM RUMBLE STRIPS 4.00 0.00 4.00 EA 0.00 \$25,000.00	\$0.00
0001 0360 6181000 MOBILIZATION 1.00 1.00 1.00 LS 1.00 \$25,000.00	\$25,000.00
0001 0370 6200015 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. 60.00 0.00 60.00 LF 0.00 \$28.00	\$0.00
0001 0380 6200021 PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW 16.00 0.00 16.00 EA 3.00 \$310.00	\$930.00
0001 0390 6205902A 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING 209,344.00 0.00 209,344.00 LF 116,282.00 \$0.32	\$37,210.24
0001 0400 6205903A 61N. YELLOW HIGH BUILD WATERBORNE PAVEMENT 126,960.00 0.00 126,960.00 LF 0.00 \$0.33	\$0.00
	φ0.00
0001 0410 6206000C 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS 766,308.00 0.00 766,308.00 LF 810,876.00 \$0.17	\$137,848.92

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

119,818.00

84,711.00

153,168.00

0.00

0.00

0.00

119,818.00 SQYD

84,711.00 SQYD

153,168.00 SQYD

128,223.00

123,858.00

94,105.00

\$1.51

\$1.51

\$1.51

\$193,616.73

\$187,025.58

\$142,098.55

\$2,625,432.55 \$2,625,432.55

Total Paid / All Items / All Estimates (Including this Estimate)

0490

0500

0510

220617-A03 Overall - Total Value Posted to Date as of Report Generated Date

0008

0009

0010

4132000

4132000

4132000

SCRUB SEAL

SCRUB SEAL

SCRUB SEAL

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
220617-A03	J1P3388	0002	0430	4132000	SCRUB SEAL	235,274.00	0.00	235,274.00	SQYD	0.00	\$1.51	\$0.0
		0003	0440	4132000	SCRUB SEAL	277,875.00	0.00	277,875.00	SQYD	345,456.00	\$1.51	\$521,638.5
		0004	0450	4132000	SCRUB SEAL	330,464.00	0.00	330,464.00	SQYD	330,464.00	\$1.51	\$499,000.6
		0005	0460	4132000	SCRUB SEAL	127,268.00	0.00	127,268.00	SQYD	121,665.00	\$1.51	\$183,714.1
		0006	0470	4132000	SCRUB SEAL	310,029.00	0.00	310,029.00	SQYD	318,511.00	\$1.51	\$480,951.6
		0007	0480	4132000	SCRUB SEAL	76,545.00	0.00	76,545.00	SQYD	76,545.00	\$1.51	\$115,582.9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1P3388

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0360	6181000	MOBILIZATION	7/14/23	7/17/23	0.25	LS		30.5				
0410	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	7/5/23	7/17/23	26,672.00	LF	MO 6	34.3		31.8		
			7/6/23	7/17/23	33,875.00	LF	MO 31	.002		3.1		
			7/10/23	7/17/23	42,582.00	LF	MO 31	4.6		6		
			7/11/23	7/17/23	48,883.00	LF	MO 31	15		11.1		
			7/12/23	7/17/23	64,816.00	LF	MO 31	11.1		6		
			7/13/23	7/17/23	75,146.00	LF	MO 6	23.5		30.5		
			7/14/23	7/17/23	5,085.00	LF	MO 6	30.5		31.8		
0420	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/5/23	7/17/23	19,061.00	LF	MO 6	34.3		31.8		
			7/6/23	7/17/23	17,575.00	LF	MO 31	.002		3.1		
			7/10/23	7/17/23	21,453.00	LF	MO 31	4.6		6		
			7/11/23	7/17/23	23,029.00	LF	MO 31	15		11.1		
			7/12/23	7/17/23	38,294.00	LF	MO 31	11.1		6		
			7/13/23	7/17/23	56,004.00	LF	MO 6	13.5		30.5		
			7/14/23	7/17/23	3,908.00	LF	MO 6	30.5		31.8		
0440	4132000	SCRUB SEAL	7/5/23	7/17/23	38,317.00	SQYD	MO 6	34.3		31.8		
			7/12/23	7/17/23	7,084.00	SQYD	MO 6	22.881		22		
			7/13/23	7/17/23	110,369.00	SQYD	MO 6	23.5		30.5		
			7/14/23	7/17/23	18,857.00	SQYD	MO 6	30.5		31.8		
0450	4132000	SCRUB SEAL	7/6/23	7/17/23	58,054.00	SQYD	MO 31	.002		3.1		
			7/7/23	7/17/23	24,690.00	SQYD	MO 31	3.1		4.6		
			7/10/23	7/17/23	52,312.00	SQYD	MO 31					26156 for 4.6 to 6 26156 for 16.446 to 15
			7/11/23	7/17/23	86,299.00	SQYD	MO 31	15		11.1		
			7/12/23	7/17/23	109,109.00	SQYD	MO 31	11.1		6		

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post																																					
P3388	0320	June 7, 2023	417	WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		105.038	MO 24W	2.00	16.00			32.0																																					
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		99.749	MO 5S	4.00	1.50			6.0																																					
								WO3-4 8x48 16.00 BE PREPARED TO STOP		105.484	MO 24W	2.00	16.00			32.																																	
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		105.727	MO 24W	2.00	16.00			32.																																					
									GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		107.513	MO 24W	2.00	1.50			3.																																
										GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		108.243	MO 24W	2.00	1.50			3.																															
										GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		108.537	MO 24W	2.00	1.50			3.0																															
					GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		108.635	MO 24W	2.00	1.50			3.																																				
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		108.719	MO 24W	4.00	1.50			6																																					
				GO20-4a 18X12 1.5 PILOT CAR IN USE WAIT & FOLLOW		108.784	MO 24W	6.00	1.50			9.																																					
									WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		111.961	MO 24W	2.00	16.00			32																																
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		112.070	MO 24W	2.00	16.00			32																																					
																	WO3-4 8x48 16.00 BE PREPARED TO STOP		112.174	MO 24W	2.00	16.00			32																								
																																(V F	(V F			() (WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		112.287	MO 24W	2.00	16.00			32
																																									,			WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		99.187	MO 5S	2.00	16.00
																																				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		99.296	MO 5S	2.00	16.00			32					
																		WO3-4 8x48 16.00 BE PREPARED TO STOP		99.411	MO 5S	2.00	16.00			32																							
					WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		99.528	MO 5S	2.00	16.00			32																																				
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		105.266	MO 24W	2.00	16.00			32																																					



Line Item Adjustments by Estimate

Jul 19, 2023

Contract ID: 220617-A03

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J1P3388	0380	PREF	Material	Туре	1	Jun 16,	SYSTEM	(\$930.00)	
		PVMT MARK, LT/RT ARROW	ivialei lai			2023	OTOTEM	(\$550.00)	
					2	Jul 3, 2023	SYSTEM	(\$930.00)	
					3	Jul 17, 2023	SYSTEM	(\$930.00)	
				- Total				(\$2,790.00)	
			Material - Total					(\$2,790.00)	
			MaterialCredit		2	Jul 3, 2023	SYSTEM	\$930.00	
					3	Jul 17, 2023	SYSTEM	\$930.00	
				- Total				\$1,860.00	
			MaterialCredit - Total					\$1,860.00	
	0380 -) - Total						(\$930.00)	
	0410	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Overrun	Overrun	3	Jul 17, 2023	SYSTEM	(\$7,576.56)	
			Overrun - Total					(\$7,576.56)	
			Overrun - Total					(\$7,576.56)	
	0410 -	0 - Total						(\$7,576.56)	
	0440	SCRUB SEAL	Overrun	Overrun	3	Jul 17, 2023	SYSTEM	(\$102,047.31)	
				Overrun - To	Total		(\$102,047.31)		
			Overrun - Total					(\$102,047.31)	
	0440 -	140 - Total						(\$102,047.31)	
	0470	SCRUB SEAL	Overrun	Overrun	1	Jun 16, 2023	SYSTEM	(\$12,807.82)	
				Overrun - Total				(\$12,807.82)	
			Overrun - Total					(\$12,807.82)	
	0470 -	0 - Total						(\$12,807.82)	
	0490	SCRUB SEAL	Overrun	Overrun	2	Jul 3, 2023	SYSTEM	(\$12,691.55)	
					Overrun - Total			(\$12,691.55)	
			Overrun - Total					(\$12,691.55)	
	0490 -	0490 - Total						(\$12,691.55)	
	0500	SCRUB SEAL	Overrun	Overrun		Jun 16, 2023	SYSTEM	(\$59,111.97)	
			Overrun - Total					(\$59,111.97)	
			Overrun - Tota	ıl				(\$59,111.97)	
0500 - Total								(\$59,111.97)	
J1P3388 - Total								(\$195,165.21)	
Overall -	Overall - Total								



There are no contract adjustments to display for this contract.